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The Question Booklet contains questions both in English and Hindi. If there is any variation, the
English version will be treated as correct.

In all, there are 85 questions in the paper. Each question has 4 responses i.e. A, B, C, D. Darken
the proper box as per the instructions given on OMR sheet. All questions are compulsory.

A correct Answer for each question carries 1 mark. There is no negative marking.

Put cross mark on the Sr. No. of un-attempted questions.

Al the end of examination, return the OMR Answer Sheer.

Use the additional pages provided in the Question Booklet for rough work. Do not write on the

Question Booklet
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The duration of the examination is 75 minutes.
Use of calculator, cell phone or any electronic device is not allowed in the Examination Hall.

Use of unfair means will disqualify the candidatc. The decision of Superintendent of
Examination shall be final.
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v 9F &t e @ Fdwar # @
wdameft & forg srEw

| 8

0V ® N o ¢

s

ﬁa%mﬂﬂhmmﬁlmwﬁﬁuﬁhmaﬁilﬁmﬁwﬁ@ﬁ#

ferd@
I A =, g e e, =, B @ am, @ S o ww sk s wewR @ W

IR, IFFE W AEFgES W
9% JRaw 7 Hden 7 D I v ¥ v 2 B wew R s ¥ SR v 2 ma

HAT TR
FALS THE M IAT TF D 4 Reey g, aft, W, T W I s dmm = A w

FR ofye % Ry 1@ FER B s W) aft v afed 2

FE IR FT 1 HF BN T IR F HF 6 Fe |

FAART T N A W HG AH G

qlter & 39 ¥ AL T AR uBEE w9 ¢
T & ford we qRaa ¥ sfafes @l o= Ivear ¥ v gRee w T R

qien g F YA B B W@ TS TG B H IR 6 a8 T w0 S B

e &1 9Ag Dad 75 e B
oie 2fs F BAdeer, A a1 fF N wERE 39 @ 3@ ahia )
et T 1 S e e S S B i e sl i s 2

adar=g BT



1. In Himachal Pradesh maximum rainfall is received due (o ...........

(A)  South - West Monsoon

: (B) Western Disturbances
(C) North — East Monsoon

(D) Winter Monsoon

ReTa R A st aw - - — - QA et 37
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2, In Himachal Pradesh monsoon rains are received during ......... months
(A) June — September (B) April - July
(C)  July - October (D) October — February
fewras S # e Al - - - - - wfg=i & Brft 31
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3. Which one of the following is considered as the best fodder tree?
(A) Biul (B) Teak
(Cy  Toom (D) . Semal
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Which of the following is a green house gas?

(A CO; (B) CHs

(C) CFC (D) All of the above
fefafaa % @ = @ 1 ai5a (3Ra 1) I 372

() CO: (@) CH

(@) CFC . (8) I wf

Increase in concentration of harmful gases in atmosphere which cause ailments
to living organisms is called......

(A) Air pollution (B) Climate change
(C) Global warming (D) Ozone layer depletion
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6. Which of the following is the state tree of Hlm’T .
00
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(@) . R (&) =%

win
7.  In Una and Hamirpur district of Himachal Pradesh which of following hills are

found: .
. (B) Pir Panj
(A) Aravalli
(©) Shi:a]ik hills (D) Zaskar
forem = mmﬁmﬂqﬁwﬁﬂﬂ?ﬂil
(v) sl (&) g
() Fefors (&) e
8. Which of the following is the state animal of Himachal Pradesh:
(A) Brown Bear (B) Tiger
(C) Cheetah (D) Snow Leopard
Raraw wRin & vow v Peffan § & @ 37
(7) W (@) =
(@) <t (@) = Agem
9.  Simbalbara National Park is sitnated in which of the following districts:
@A) Sirmone ®) Kully
(C) Lahual & Spiti (D) Shimla
R amw T e e § fom 37
(v) . Rk @) T

10.  Giri and Pabbar are the tributaries of one of the following rivers:
(A) Rawvi

(C) Satlyj (%; g::;una
ﬁﬂaﬂ?@?ﬁﬁﬁlﬁaﬁﬂ??ﬂaﬁaﬁmﬁi?
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N ~n TR R HIE 10lowing places the f .
from resin of pine trees ﬂrepl;tnated: actories for the extraction of turpentine oil

(A)  Bilaspur & Hamirpur

(C) Bilaspur & Jahu (B)  Bilaspur & Nahan

(D) Bilaspur & Rajgarh
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12.  In which of the following districts the Chandra Tal lake is situated?
(A) L&hﬂl.l_l & Spili (B) Kinnaur
(©)  Mandi (D) Chamba
fFfefRea ¥ } fva R F oo 3w fua 37
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13.  In which of the following places the veterinary college of Himachal Pradesh is
situated?
(A) Solan (B) Palampur
(C) Shimlia (D) Bilaspur
fRwras wRn # vy e weifdnea e fua 37
(v) @ A=) g
(@) fwen (8) foemrm

14,  Which of the following is an artificial man made lake in Himachal Pradesh:
(B) Govind Sagar

Eé):’ Eraaigar Lake (D) Chandra Tal
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15 Find out the mismatch between following match pairs:
f Medical Sciences in Himachal Pradesh — Bilaspur

(A) All India Institute 0 (Rurmal) - Chamba

(B) World famous handlfcrchief
(C) Choti Kashi — Mandi
D) Alpine pastures — Una
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16.  Who is the present Governor of Himach B) Acharya pevvrat

i edi
(A) Sh. Bandaru Dattatrey? Vs, Kiran B
(C; Sh. Rajender Vishwanath Arlekar D)
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Fill in the blanks with correct option
17, WE crirrensiarsnraessansssnsm to help the poor.
O oo ()l

18.  Complete the sentence:
A burnt child ...occienanssasssanssssaasens

(A) dreads the burns
(C) dares the fire

(B)~- dreads the fire
(D) scares the fire

19.  Change the narration:- She said to me, “The earth is round”.

(A) She asked me that the earth was round
(B) She said that the earth is round

(C) She tells me that the earth is round
(D). "She told me that the earth is round

20. Change the Voice: “Let a lie never be told”

(A) One should never tell a lie (B) None should tell a lie
(C) Don'ttellalie (P} . Never tell a lie
21.  The young one of ‘Cat’ is called?
(A) Baby cat
(C).~ Kitten %) Pap
G- (D) None of these

22,  In the sentence, ‘T have lost my book’

(A) Principal verh g
(C) Transitive verb (B)* Auxiliary verb
(D) None of these

- The word ‘have’ iS...



23, The correct saying is:

(A) Greed is a curse _
(C)  The greed is a curse (B) A greed s 5 curse
{—DF None of ”1{:_5:
24. Re-arrange the followin

t g jumb ,

choose the correct one: age/an/

A) An age of mobi] 5 thi .
EC} Thisgan age is [:fe ph];)'ne 18 thig (B)« This is un age of mobile phones
= moblle phones (D) Mobile phone is an age DF;" this

25. Which one is not correct?

(A) . My friends do not smoke

(C) Ram has gone to Shimla (B) He is reading a book

(D) A lot of money are wasled on the

project !

26.  What is the comparative degree of “Busy”?

(A) Busiest (B) ~ Busier

(C) More busy (D) Most busy
7. Either of these paths ............................ to the temple

(A) lead (B) leads

(C)— leading (D) have led
28. They .cccievriararinreninnincnnn her since she was a child

(B) were knowing

have known
15y~ oave (D) are knowing

(C) . know

29,  Don’t dWell ...uvvereeeriusiiasioesess What has passed away!

(B) into
Eg)) ::1 (D) - for
30.  The collective noun for OWISis ....cooeseer -
(B) schn_nol
(3) s (D) parhament
(C) swarm

... miss the train.
31,  Walk fast leSt OO .coeveerreeseess

_(B)" should
(A) would (D) can
(C) could
‘ ! gree T ST
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An electric heater has a wattage of 1,500 W. How much electric energy does it
consume in 10 hours?

(A) 15kWh (B) 1S0W
(C) 15000 W (D) Data is insufficient

va faee - dice & Hifva wifga 1,500 @ 2110 902 § @ fhe o s
&I

15 KWh @) 150w |
(@) 15000W (8) & T SR v 2
If a person is not able to see far off objects, then from which of the following he
or she is suffering?
i (B) Hypermetropia
Eé; ﬁ;it;}i’: o (D) Astigmatism
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49.  Which one of the following is Jaughing gas

) N2O
(A) NO;+CO; 5y NO:
(C) N0
e % @ e o Fa e 37
) N20s
(v) NOz+CO; (
(&) MO (Y- NO:
50. ‘Widal Test’ is used to diagnose which disease?
- (B) Malaria
f&} iﬁmd (D) Cancer
frw 3w s @ fg e 2w’ e s 87
AT) cEwmE (R gER) (@) weRar
(@) <@ (3) Hw
51.  On what principle does stethoscope work?
(A) Refraction of sound (B) - Reflection of sound
(C) Spead of sound (D). Intensity of sound
Ry fva Raia © 1 s 27
(R) & = quaeT &) af o /e
(@) eafyaf (&) eafr R S
52.  Which colour of light deviates least while passing through a glass prism?
(A) Red (B) Blue
(C) Green (D) Violet
YT HT DA W BT @ fAgW } oA W daR oA e v 27
(v) == (@) en
(@) = (&), ¥

53.  Which of the following is included in an ecosystem?

(A) All living organisms
(C) Some times living and some times
non living objects

(B) Non living objects
(D) Both living organisms and non

living objects
TR w73 & FremfaRed & } wn whe sy 22
(%)  wh Sife i (@) o gy
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What is the chemicg] Dame

. of l.'h-)- il'E?
(A) Duralium
(C) Solid carbon dioxide B) Cale
e (D) Silyer pip Phite
T D T =y L e
(v) wqifemm
()~ oW TR () fognry TRz
M) fmr e
Name the pandemic Which hag affecte
2021 9 people al OVer the worlg during 2020.
(A) SARS
(@ COVID-19 (B) Delta
(D) Wuhan
W1 20202021 H IW Huwh
i B T ey favaw @ sl @ v
(v) w%&®
|
(@) . PR-19 Eﬁr} :‘;
Which of the following acid is present in gastric juice of human body?
(A) Acitic acid itric aci
(C) Hydrochloric acid ((gi ?;?;;ﬁ::dacid
WG THR & TST W | Iufom I T AW =@
(v) R cRe () i cRe
@) Ty e () sewRan ol

Some of the organisms are sensitive to different levels of air pollution and are
used as pollution indicator. Select which among the following fits into this

category:
(A) Fungi (B) Fresh water algae
(C) Bacteria (D) Lichens

& fafwT @ @ gf daee B ¥, 7 W gEE @

vt ag vquEor
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What does our body produce to fight the invader when a disease carrying
microbes enter the body?

Antigens
(A)  Antibiotics ((?))) Aniibodits

(C) Pathogen
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59.  Which of the following is responsible for marble cancer?
(A)  Acid rain (B) CFC
(C) Ozone (D) Oxygen
PrefaRaa ¥ @ S GOR Ba B g fwer 37
AR)" I e (&) 141 @
(&) e (&) alteritSTT
60. Lightning conductor is a device used to protect........ccoeees ?
(A) Building from the effect of (B) Building from the effect of earth
lightning quake _
(C) Building from heavy rain (D) Structures from heavy wind
AR Hewet e STl § e IwEm Swefian # @ fhaat guen @
forg fvan s 27
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& foe oo
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61. In human body the blood giucose level is controlled by ------=-=- harmone
(A) Glucogen (B) Insulin
(C) Adrenalin (D) Thyroxin
A IR A G THT S TR B AET — - — — — B gt RalEe ot o
2l
) T (@) v
(@) v (3) o
B izobium bacteria found in root nodules of leguminous plants is an..........
(A) Atmospheric carbon fixer (B) Atmospheri
(C) Atmospheric nitrogen fixer (D) All of Fh:;lgn?u?gen s
Wﬁﬁﬁmﬁﬁﬁwaﬁmmm_ -
(v) AHEAY T (&) T sk
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(A) Coal Bood Conductor of electricigy?
(€)  Sulphur ;gl Graphyte
RrfaRaa a9 @ ) Phosphorys
(v) waen
(&) www () e
@) wiewr

(A) Boys of any age
(C) Girls of any age (B)  Adolescent girls

(D) Adolescent boys
fFfoitas fra S & ‘g A’

o v s 27
47) Bl 3T a3 @) .
— feraie wrefral 3
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65.  Which of the following metal is stor

ed in k i e e 2o
with sir and wates: crosene oil due to its high reactivity

(A) Sodium (B) Zinc
(C) Calcium (D) Magnesium

PrefeiRas @9 @ arg v i ool @ ar wea vRifkanfien @ wro e
D oA W T S e

AR)-— AR (@) R
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66. In which of the following area role of bacteria is not present?

] Industry
(A) Leather Industry (B) Apiculture
(C) Alcohol and Vinegar Industry (D) Tobacco & Tea Industry

P fae @t 3 Shaopl ot sy < Ak

(v) = T (@) w:? ﬂ
(&) wa 7 R 3am (&) TR
3. > is the percentage error
67. A student multiplied a number by - instead of 5. What s the pe
in the calculation? »
(B)

C) 16%
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68. What s decimal expansion of 3

(A) Terminating

(B) Non—-terminating
(C) Recurring

(D) Non-terminating recurring

;—’mmmmt?

(v) = (@) s
@) sl (#) sam FEd
69.  An angle which is greater than 180° and less than 360° 0S...c0unns
(A  Complimentary angle (B) . Reflex angle
(Cy Straight angle (131 Supplementary angle
180" @ uftyes R 360’ W BN WY WA B W =W FHHA 87
(v) wgswm ) ufrd w
(@) wyEm () = =m
70.

How many bags of graios can be stored in a cuboid granary of IZ2 mx 6 m x5S m.
If each bag occupics 8 space of 0.48 m™”

(A) 75 (B) 750
(€ 1500 (D) 375

T T ® MR % e e wam 2 @ x 6 W x s W B # P
WA 1 arfedl 3 wwA ¥ uft o @i weEs 0.4 WA

(v) 7% (&) 750

(#) 1500 (M) ars

If two dice are thrown simultaneously. The probability of getting a sum of 9 is:-
(A) 1

- Hl
10
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D
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(%) % 0 iR ¥ B 3 a0 By
@) 1 @ 3
9 10
: (&) 4
9

¢ : [ numbe
median will be: ’ whnes
| and 9, respectively then the value of
(A) 857
© 897 B) 8.67

(D) 924

: &
(@) 897 E@,} o

The area of rhombus having d, = 16 cm, dz = 12 em will be:
(A) 16x12cm’ 5
(C) 8x6cm’ ((g]) ﬁ: .

7 o TEgS A Q= 16 TR, @, = » Tk B @ AAHN
R § ¥ = g ? A -

(?) 16x12 tﬂfz _{ﬁ.} 96 w
(@) 8x63A @) 144 AR
Select the correct value of (14Cos 6) (1-Cos 6) out of the following:
AK) Sin’® (B) Cos’®
(C) Tan’® (D) Cot’®
(1+Cos 8) (1-Cos 6) T W e w9 P A AT
(v) Sin® (&) Cus:El
(@) Tan’0 (&) Cor®

4x? — Px+8if (x—2) exactly

1o a3
What will be the value of P for polynomial X +

divide it: L
(A) 16 ® 3
::';;+4x2—Px+G ﬁﬁqumwﬂWuﬁ(r-z)ﬁmﬁm#
o (@) 3
Ifg} 1: @) o
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79.

f same base and same hej,ghl

1]
one and 2 hemisphere 8r€

If 0 woode linder, ¢ :
then tha: ru:.]l: il’ their volumes will be? 3:2:)
(B) 2~
& e .
b9 " A
Rt e & v Ao, T I FLA - e
e @ g e A R @AY
(@) 3821
(T) 312 s
&) r2:a (&) 132
. : [ 6 9 15
Find the missing number in a given table: ; 12 __zﬁ____
4 6 9
1
(A) 15 (B) 2
(C)J 10 (D) 5
foresT § e | g 6 9 15
8 12 20
4 6 ?
(") 15 @) 21
(%) . 10 @) s

and walks 5 km. After that

A man walks 1 km to east and then he turns to south
he turns to East and walks 2 km. After this he turns to north and walks 9 km.

Find out how far is he from his starting point?
(B) Skm

(A) 3km
D) 7km

(C) 4km

) sfra @) s
@) afmR (&) 78 H

The total of the ages of Raju, Amar 3 o
their ages 3 years ago? nd Satish is 80 years, What was the total of

(A) 71 years
= (B} 72 }'Ears
(C) 74 years D) 77 i
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A person croggeg (&) . 77 oy
hours? 2 200 m ll]ng road jp g
(A) 3 wh“thm”slmdlnkmper
© 9 ® ¢
D) 12
T Afea 200 ihz'{m
5
AR e ¥ w7 2ﬁq€ﬁ“milmaﬁauﬂmﬁm
(") s -
q) o 6
a (#) 12
::i:ture of milul: :2:1“::;:]1 1: ratio of milk and water is 2:1. If the ratio of the
to be further added? t0 be made 1:2 then find out the quantity of water
©  40litres (D) 60 litres

AR 60 et Fwwr § qu ok T w I 20 ¥ R W g AT B s
W 1:2 T & g Reeen el d e gen?

(¥) 20 X @) 30 A=
(@) 40 e (&) 60 Fe
What is the probability of an impossible event?
0
A) 1 f{llil:; 5
< -l

@ - o
=
s nmber?
Which of the following is a0 S B) 3
7
(A) 3 o) T

(C)



85.
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3
(®) 3 @) 2
(@) 1 @)
’ 9
: e of a sphere:
Which one of the following is the formula for estimafion of volum
( ) _j_ﬂ_rﬂ § n_ra
© Ems (D) nr
3
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(w) %“Ta (#) gmg
() %mﬂ @)

The two trees standing erect on a plane surface having height of 6 and 11m,
respectively. If the distance between the bottoms of both the trees is 12m, then
what is the distance between the top tip of the stem of these two trees:

(A) 17m B) 13m
) o (D) 18m
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